
An example of testing your existing foundation depth, by 

excavating to reveal the last brick or stone and calculate final levels 

after the conversion of your basement.  
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To expose both walls 

For a 2100mm 7ft final height 

A 2300mm is needed 

 2
3

0
0

m
m

  

 300mm  

Excavate along side of the wall untill there are no more bricks, 

Measure point A to point B  

 B  
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Exsample: A+B= 2300mm now calculate: 2300-200 = 2100mm 

200mm is made up of 125mm concrete, 8mm floor membrane, 50mm insulation, 18 floor boards,  


